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IME=(20.5625"*5004) + (4.02209"*850#)—(FA*COS13.4826°)*(7.43054")— ((FA*SIN13.4826°)*(0.573800))=0
13700.0"# —((FA*COS 13.4826°)%(7.43054”))—((FA*SIN13.4826")*(0.573800”)=0
13700.0"# —(FA*7.22576) — (FA*0.134614)=0

FA*7.22576 + FA*0.134614
FA*7.54268=0

13700.0"#
13700.0"#

13700.0"# = FA*7.38837
7.36037 _[.36637

1861.32# = FA

FAx=1861.52*COS 13.4826°
FAy=1861.32*SIN 13.4826°

SFf=—850# — (1861.32#*COS 13.4826°) + FBx=0

~2660.02¢ + FB= 0
—FB« —FBx

2660.02# = FBx

SFi=—500# — (1861.32#*SIN 13.4826°) + FBy=0
—~933.967 + FBy= 0
933.967#=FBy



